A New (But Very Nearly Old) Proof of the Rogers–Ramanujan Identities

Hjalmar ROSENGREN

Department of Mathematical Sciences, Chalmers University of Technology and University of Gothenburg, SE-412 96 Göteborg, Sweden

E-mail: hjalmar@chalmers.se

URL: http://www.math.chalmers.se/~hjalmar/

Received March 25, 2024, in final form June 27, 2024; Published online July 02, 2024 https://doi.org/10.3842/SIGMA.2024.059

Abstract. We present a new proof of the Rogers–Ramanujan identities. Surprisingly, all its ingredients are available already in Rogers seminal paper from 1894, where he gave a considerably more complicated proof.

Key words: Rogers-Ramanujan identities; constant term identities

2020 Mathematics Subject Classification: 11P84; 33D15

Dedicated to Stephen Milne on his 75th birthday

1 Introduction

The fascinating story of the Rogers-Ramanujan identities

$$\sum_{k=0}^{\infty} \frac{q^{k^2}}{(1-q)(1-q^2)\cdots(1-q^k)} = \prod_{j=0}^{\infty} \frac{1}{(1-q^{5j+1})(1-q^{5j+4})},$$
(1.1a)

$$\sum_{k=0}^{\infty} \frac{q^{k(k+1)}}{(1-q)(1-q^2)\cdots(1-q^k)} = \prod_{j=0}^{\infty} \frac{1}{(1-q^{5j+2})(1-q^{5j+3})}$$
(1.1b)

has been told many times. They were first proved by Rogers in a brilliant but forgotten paper from 1894 and rediscovered by Ramanujan some time before 1913. Hardy wrote about the seven proofs known in the 1930s: "None of them is both simple and straight-forward, and probably it would be unreasonable to hope for a proof which is" [10]. Several dozen more proofs have appeared since then, using diverse methods. We refer to [2] for a survey of the proofs available in the 1980s and [3, 5, 6, 7, 8, 13, 21, 22] for examples of more recent work. The purpose of the present note is to give a new proof that, although far from the shortest possible, we find relatively "simple and straight-forward". Almost unbelievably, this proof was very nearly found by Rogers. He knew all its main ingredients and could easily have given it by adding one or two sentences to [15]. Among the many gems buried in Rogers' paper are the identities [15, Section 6, formulas (5)–(8)]

$$G(q) + G(-q) = 2F(q)G(q^{16}), G(q) - G(-q) = 2qF(q)H(-q^4),$$
 (1.2a)

$$H(q) + H(-q) = 2F(q)G(-q^4), H(q) - H(-q) = 2q^3F(q)H(q^{16}),$$
 (1.2b)

This paper is a contribution to the Special Issue on Basic Hypergeometric Series Associated with Root Systems and Applications in honor of Stephen C. Milne's 75th birthday. The full collection is available at https://www.emis.de/journals/SIGMA/Milne.html

where G(q) and H(q) denote the sums in (1.1a) and (1.1b), respectively, and

$$F(q) = \prod_{j=0}^{\infty} \frac{1 - q^{8j+8}}{1 - q^{2j+2}}.$$

Below, we will give both a version of Rogers' proof of (1.2) and another proof based on work of Andrews [1]. After deriving (1.2), Rogers writes somewhat dismissively

These four identities ... are sufficiently remarkable in themselves to call for mention at this point, although they may all be derived from the θ -function values of the series $\phi(q)$, $\psi(q)$ [our G(q) and H(q)] obtained in the last section. [...] It is not, however, in these identities that the special interest in the series $\phi(q)$ and $\psi(q)$ lies.

At this point Rogers has already proved the Rogers–Ramanujan identities. He realizes that (1.2) are quite easy to prove for the product sides of (1.1) and hence perhaps less interesting than they may seem.

Our observation is simply that the identities (1.2) uniquely determine G and H up to normalization. In fact, if they are written as

$$G(q) = F(q)(G(q^{16}) + qH(-q^4)), (1.3a)$$

$$H(q) = F(q)(G(-q^4) + q^3H(q^{16})),$$
 (1.3b)

they can be used to recursively compute G and H as power series, starting from the initial values G(0) = H(0) = 1. Since Rogers has proved that (1.2) hold both for the sum sides and the product sides of (1.1), this gives an independent proof of the Rogers-Ramanujan identities, which is considerably easier than the one given earlier in the same paper.

We will present the resulting proof in some detail, but we stress that apart from the preceding paragraph everything can be found in [1, 15]. I am very much indebted to George Andrews for pointing this out to me.

In Section 3, we explain how some further known Rogers–Ramanujan-type identities either appear as byproducts of the proof or can be obtained by slight variations. We only consider identities that are very close to (1.1), in that the product sides are essentially the same. It would be interesting to investigate whether similar proofs can be given for other results. As a first step, in [17] we show that the method can be used to prove Rogers' and Slater's mod 7 identities.

2 A proof of the Rogers-Ramanujan identities

We will use the standard notation

$$(a;q)_k = \prod_{j=0}^{k-1} (1 - aq^j), \qquad k \in \mathbb{Z}_{\geq 0} \cup \{\infty\},$$

which is extended to negative indices by $(a;q)_{-k} = 1/(aq^{-k};q)_k$. More generally,

$$(a_1,\ldots,a_m;q)_k = (a_1;q)_k \cdots (a_m;q)_k.$$

We will write

$$R(t;q) = \sum_{k=0}^{\infty} \frac{q^{k^2} t^k}{(q;q)_k}$$

and G(q) = R(1;q), H(q) = R(q;q). The Rogers-Ramanujan identities (1.1) then take the compact form

$$G(q) = \frac{1}{(q, q^4; q^5)_{\infty}}, \qquad H(q) = \frac{1}{(q^2, q^3; q^5)_{\infty}}.$$

Finally, we introduce the multiplicative theta function $\theta(z;q) = (q,z,q/z;q)_{\infty}$.

The only results that we will need are Euler's identity

$$\frac{1}{(z;q)_{\infty}} = \sum_{k=0}^{\infty} \frac{z^k}{(q;q)_k}, \qquad |z| < 1,$$
(2.1)

Jacobi's identity

$$\theta(z;q) = \sum_{k=-\infty}^{\infty} (-1)^k q^{k(k-1)/2} z^k$$
(2.2)

and

$$\frac{\theta(1/z;q)}{(tz;q)_{\infty}} = (t;q)_{\infty} \sum_{k=-\infty}^{\infty} \frac{(-1)^k q^{k(k-1)/2}}{(t;q)_k z^k}, \qquad 0 < |z| < \frac{1}{|t|}.$$
 (2.3)

To some readers these identities may look just as complicated as (1.1), but they are much easier to prove. For instance, they can all be obtained as special cases of Ramanujan's $_1\psi_1$ -summation, a simple proof of which was given by Ismail [11], see also [1, Appendix C].

Following Andrews [1], we will represent the sums in (1.1) as constant terms. In general, if $f(z) = \sum_{k=0}^{\infty} a_k z^k$ (all series in this paper can be considered as formal or analytic according to taste) and we let CT denote the constant term of a Laurent series in z, then by (2.2), we have

$$\operatorname{CT} \theta(1/z; Q) f(xz^{N}) = \operatorname{CT} \sum_{l=-\infty}^{\infty} (-1)^{l} Q^{l(l-1)/2} z^{-l} \sum_{k=0}^{\infty} a_{k} x^{k} z^{Nk}$$
$$= \sum_{k=0}^{\infty} (-1)^{Nk} Q^{Nk(Nk-1)/2} a_{k} x^{k}. \tag{2.4}$$

We apply this with f(z) as Euler's series (2.1). In order to get a factor q^{k^2} , we must choose $Q = q^{2/N^2}$. We will only need the cases N = 1 and N = 2, which give the constant term representations

$$R(t;q) = \operatorname{CT} \frac{\theta(1/z;q^2)}{(-qtz;q)_{\infty}} = \operatorname{CT} \frac{\theta(1/z;q^{1/2})}{(q^{1/2}tz^2;q)_{\infty}}.$$

Next, we write

$$\frac{\theta(1/z;q^2)}{(-qtz;q)_{\infty}} = \frac{\theta(1/z;q^2)}{(-qtz;q^2)_{\infty}} \cdot \frac{1}{(-q^2tz;q^2)_{\infty}} = \frac{\theta(1/z;q^2)_{\infty}}{(-q^2tz;q^2)_{\infty}} \cdot \frac{1}{(-qtz;q^2)_{\infty}},$$

$$\frac{\theta(1/z;q^{1/2})}{(q^{1/2}tz^2;q)_{\infty}} = \frac{\theta(1/z;q^{1/2})}{(q^{1/4}t^{1/2}z;q^{1/2})_{\infty}} \cdot \frac{1}{(-q^{1/4}t^{1/2}z;q^{1/2})_{\infty}},$$

and expand the resulting factors using (2.1) and (2.3). This gives the quadratic transformation formulas

$$R(t;q) = \left(-qt;q^2\right)_{\infty} \sum_{k=0}^{\infty} \frac{q^{k(k+1)}t^k}{\left(q^2, -qt; q^2\right)_k}$$
 (2.5a)

$$= (-q^2t; q^2)_{\infty} \sum_{k=0}^{\infty} \frac{q^{k^2}t^k}{(q^2, -q^2t; q^2)_k}$$
 (2.5b)

$$= (q^{1/4}t^{1/2}; q^{1/2})_{\infty} \sum_{k=0}^{\infty} \frac{q^{k^2/4}t^{k/2}}{(q^{1/2}, q^{1/4}t^{1/2}; q^{1/2})_k}.$$
 (2.5c)

These identities were found by Rogers [15, Section 6, formulas (2)–(4)]. Except for his way of writing, the original proof is not difficult; we will review it in Section 4. Watson independently proved (2.5b) and (2.5c) [23].

For t = 1 and t = q, the equations (2.5) simplify to

$$G(q) = (-q; q^2)_{\infty} \sum_{k=0}^{\infty} \frac{q^{k(k+1)}}{(-q; -q)_{2k}}$$
(2.6a)

$$= (-q^2; q^2)_{\infty} \sum_{k=0}^{\infty} \frac{q^{k^2}}{(q^4; q^4)_k}$$
 (2.6b)

$$= (q^{1/4}; q^{1/2})_{\infty} \sum_{k=0}^{\infty} \frac{q^{k^2/4}}{(q^{1/4}; q^{1/4})_{2k}}, \tag{2.6c}$$

$$H(q) = \left(-q^2; q^2\right)_{\infty} \sum_{k=0}^{\infty} \frac{q^{k(k+2)}}{\left(q^4; q^4\right)_k}$$
 (2.6d)

$$= (-q; q^2)_{\infty} \sum_{k=0}^{\infty} \frac{q^{k(k+1)}}{(-q; -q)_{2k+1}}$$
 (2.6e)

$$= (q^{1/4}; q^{1/2})_{\infty} \sum_{k=0}^{\infty} \frac{q^{k(k+2)/4}}{(q^{1/4}; q^{1/4})_{2k+1}}.$$
 (2.6f)

Let us introduce the auxiliary series

$$A(q) = \sum_{k=0}^{\infty} \frac{q^{k^2}}{(q^4; q^4)_k}, \qquad B(q) = \sum_{k=0}^{\infty} \frac{q^{k(k+2)}}{(q^4; q^4)_k}.$$
 (2.7)

Then, (2.6) can be written

$$G(-q^4) = (q^4; q^8)_{\infty} \frac{B(q) + B(-q)}{2},$$
 (2.8a)

$$G(q) = \left(-q^2; q^2\right)_{\infty} A(q), \tag{2.8b}$$

$$G(q^{16}) = (q^4; q^8)_{\infty} \frac{A(q) + A(-q)}{2},$$
 (2.8c)

$$H(q) = \left(-q^2; q^2\right)_{\infty} B(q), \qquad (2.8d)$$

$$H(-q^4) = (q^4; q^8)_{\infty} \frac{A(q) - A(-q)}{2q},$$
 (2.8e)

$$H(q^{16}) = (q^4; q^8)_{\infty} \frac{B(q) - B(-q)}{2q^3}.$$
(2.8f)

We may use (2.8a) and (2.8d) to eliminate A and B from the remaining equations. Writing also

$$F(q) = \frac{(-q^2; q^2)_{\infty}}{(q^4; q^8)_{\infty}} = \frac{(q^8; q^8)_{\infty}}{(q^2; q^2)_{\infty}},$$

we arrive at (1.2) or, equivalently, (1.3).

As was noted in the introduction, the identities (1.3) can be considered as recursions for computing the Taylor series of G and H, starting from G(0) = H(0) = 1; see (2.9) below. Hence, if we can verify that (1.2) also holds for the product sides

$$\tilde{G}(q) = \frac{1}{\left(q, q^4; q^5\right)_{\infty}}, \qquad \tilde{H}(q) = \frac{1}{\left(q^2, q^3; q^5\right)_{\infty}},$$

then the Rogers–Ramanujan identities $G = \tilde{G}, H = \tilde{H}$ follow. As Rogers observed, this reduces to classical theta function identities. We first write

$$\tilde{G}(q) = \frac{1}{\left(q, q^4, q^6, q^9; q^{10}\right)_{\infty}} = \frac{\left(-q, -q^9; q^{10}\right)_{\infty}}{\left(q^4, q^6; q^{10}\right)_{\infty} \left(q^2, q^{18}; q^{20}\right)_{\infty}} = \frac{\left(q^8, q^{12}; q^{20}\right)_{\infty} \theta\left(-q; q^{10}\right)}{\left(q^2; q^2\right)_{\infty}}$$

and similarly

$$\tilde{H}(q) = \frac{\left(q^4, q^{16}; q^{20}\right)_{\infty} \theta\left(-q^3; q^{10}\right)}{\left(q^2; q^2\right)_{\infty}}.$$

Thus, we are reduced to the problem of computing the even and odd part of a theta function. In general, Jacobi's triple product identity (2.2) implies the classical identities

$$\frac{\theta(z;q) + \theta(-z;q)}{2} = \sum_{k=-\infty}^{\infty} q^{k(2k-1)} z^{2k} = \theta(-qz^2;q^4),$$

$$\frac{\theta(z;q) - \theta(-z;q)}{2} = -\sum_{k=-\infty}^{\infty} q^{k(2k+1)} z^{2k+1} = -z\theta(-q^3z^2;q^4).$$

It follows that, for instance,

$$\frac{\tilde{G}(q) + \tilde{G}(-q)}{2} = \frac{\left(q^8, q^{12}; q^{20}\right)_{\infty} \left(-q^{12}, -q^{28}, q^{40}; q^{40}\right)_{\infty}}{\left(q^2; q^2\right)_{\infty}}.$$

Using that

$$(-q^{12}, -q^{28}; q^{40})_{\infty} = \frac{(q^{24}, q^{56}; q^{80})_{\infty}}{(q^{12}, q^{28}; q^{40})_{\infty}} = \frac{(q^{16}, q^{24}; q^{40})_{\infty}}{(q^{12}, q^{28}; q^{40})_{\infty}(q^{16}, q^{64}; q^{80})},$$

the expression above is easily reduced to

$$\frac{\tilde{G}(q) + \tilde{G}(-q)}{2} = \frac{(q^8; q^8)_{\infty}}{(q^2; q^2)_{\infty} (q^{16}, q^{64}; q^{80})_{\infty}} = \frac{(q^8; q^8)_{\infty}}{(q^2; q^2)_{\infty}} \tilde{G}(q^{16}).$$

The remaining parts of (1.2), with G and H replaced by \tilde{G} and \tilde{H} , follow similarly. Alternatively, the identities (1.3) can be obtained directly as special cases of

$$\theta(z;q) = \theta(-qz^2;q^4) - z\theta(-q^3z^2;q^4).$$

Finally, we make some remarks on the recursions for the Taylor coefficients of G and H mentioned above. Substituting

$$F(q) = \sum_{k=0}^{\infty} f_k q^{2k}, \qquad G(q) = \sum_{k=0}^{\infty} g_k q^k, \qquad H(q) = \sum_{k=0}^{\infty} h_k q^k$$

into (1.3) gives

$$g_{2k} = \sum_{j=0}^{\lfloor k/8 \rfloor} f_{k-8j} g_j, \qquad g_{2k+1} = \sum_{j=0}^{\lfloor k/2 \rfloor} (-1)^j f_{k-2j} h_j,$$
 (2.9a)

$$h_{2k} = \sum_{j=0}^{\lfloor k/2 \rfloor} (-1)^j f_{k-2j} g_j, \qquad h_{2k+1} = \sum_{j=0}^{\lfloor (k-1)/8 \rfloor} f_{k-8j-1} g_j.$$
 (2.9b)

It is interesting to note that all the coefficients involved here have partition-theoretic interpretations. This is straight-forward for f_n , and very well-known for g_n and h_n . This leads to the following result, which can be viewed as a combinatorial reformulation of (1.3).

Corollary 2.1. Let f_n be the number of partitions of n into parts not divisible by 4. Let g_n be the number of partitions of n into parts congruent to $\pm 1 \mod 5$ or, equivalently, the number of partitions of n without repeated or consecutive parts. Let h_n be the number of partitions of n into parts congruent to $\pm 2 \mod 5$ or, equivalently, the number of partitions of n without repeated or consecutive parts and not containing 1 as a part. Then, the recursions (2.9) hold.

3 Some additional results

Having proved the Rogers-Ramanujan identities, we can sum the six series in (2.6). This was of course clear to Rogers, and leads to the identities given in Slater's list [12, 19, 20] as number 99, 20, 98, 16, 94 and 96, respectively (as is noted in [19], 98 is equivalent to 79, and 94 to 17). Above, we applied (2.4) to Euler's series (2.1). If we instead use the companion series

$$f(z) = (-z;q)_{\infty} = \sum_{k=0}^{\infty} \frac{q^{k(k-1)/2}z^k}{(q;q)_k},$$

we must take $Q = q^{1/N^2}$ to get a factor q^{k^2} . We will only consider the case N = 1, which leads to

$$R(t;q) = \operatorname{CT} \theta(1/z;q)(qtz;q)_{\infty}. \tag{3.1}$$

Writing

$$\theta(1/z;q)(qtz;q)_{\infty} = \frac{\theta(1/z;q)}{(-qtz;q)_{\infty}} (q^{2}t^{2}z^{2};q^{2})_{\infty}$$

$$= \frac{\theta(1/z;q)}{(q^{1/2}tz;q)_{\infty}} (q^{1/2}tz;q^{1/2})_{\infty} = \frac{\theta(1/z;q)}{(q^{3/2}tz;q)_{\infty}} (qtz;q^{1/2})_{\infty}$$

and expanding each factor gives the transformations

$$R(t;q) = (-qt;q)_{\infty} \sum_{k=0}^{\infty} \frac{(-1)^k q^{3k^2} t^{2k}}{(q^2;q^2)_k (-qt;q)_{2k}}$$
(3.2a)

$$= (q^{1/2}t;q)_{\infty} \sum_{k=0}^{\infty} \frac{q^{k(3k-1)/4}t^k}{(q^{1/2};q^{1/2})_k(q^{1/2}t;q)_k}$$
(3.2b)

$$= (q^{3/2}t;q)_{\infty} \sum_{k=0}^{\infty} \frac{q^{k(3k+1)/4}t^k}{(q^{1/2};q^{1/2})_k (q^{3/2}t;q)_k}.$$
(3.2c)

The identity (3.2a) is the limit case $B \to \infty$ of [9, equation (7.9)] and (3.2b) is [9, equation (7.17)]. We have not found (3.2c) in the literature but it can be deduced from (3.2b) by a simple contiguity argument. Namely, splitting the terms in (3.2c) using

$$(q^{3/2}t;q)_{\infty} \frac{t^k}{\left(q^{3/2}t;q\right)_k} = \left(q^{1/2}t;q\right)_{\infty} \left(\frac{t^k}{\left(q^{1/2}t;q\right)_k} + \frac{q^{k+\frac{1}{2}}t^{k+1}}{\left(q^{1/2}t;q\right)_{k+1}}\right)$$

and then replacing k by k-1 in the second sum, one finds that (3.2c) equals (3.2b). In the cases t=1 and t=q, (3.2) can be written as

$$G(q) = (-q;q)_{\infty} \sum_{k=0}^{\infty} \frac{(-1)^k q^{3k^2}}{(q^4; q^4)_k (-q; q^2)_k}$$
(3.3a)

$$= (q^{1/2}; q)_{\infty} \sum_{k=0}^{\infty} \frac{q^{k(3k-1)/4}}{(q^{1/2}; q^{1/2})_k (q^{1/2}; q)_k}$$
(3.3b)

$$= (q^{1/2}; q)_{\infty} \sum_{k=0}^{\infty} \frac{q^{k(3k+1)/4}}{(q^{1/2}; q^{1/2})_k (q^{1/2}; q)_{k+1}}$$
(3.3c)

$$H(q) = (-q;q)_{\infty} \sum_{k=0}^{\infty} \frac{(-1)^k q^{k(3k+2)}}{(q^4;q^4)_k (-q;q^2)_{k+1}}$$
(3.3d)

$$= (q^{1/2}; q)_{\infty} \sum_{k=0}^{\infty} \frac{q^{3k(k+1)/4}}{(q^{1/2}; q^{1/2})_k (q^{1/2}; q)_{k+1}}$$
(3.3e)

$$= (q^{1/2}; q)_{\infty} \sum_{k=0}^{\infty} \frac{q^{k(3k+5)/4}}{(q^{1/2}; q^{1/2})_k (q^{1/2}; q)_{k+2}}.$$
(3.3f)

The summations (3.3a)–(3.3e) are, respectively, 19, 46, 62, 97 and 44 on Slater's list (19 is equivalent to 100, and 44 to 63). Most of them, (3.3a)–(3.3c) and (3.3e), were obtained by Rogers [14, 16], whereas the earliest reference for (3.3d) is Ramanujan's lost notebook [4, equation (11.2.7)]. We have not found (3.3f) in the literature, but as explained above it follows easily from (3.3e).

The reason that Roger skips (3.3d) is probably that it follows by contiguity from an identity that he did know (15 and 95 on Slater's list),

$$H(q) = (-q; q)_{\infty} \sum_{k=0}^{\infty} \frac{(-1)^k q^{k(3k-2)}}{(q^4; q^4)_k (-q; q^2)_k},$$
(3.3g)

see [4, p. 253] for the derivation of (3.3d) from (3.3g). Not surprisingly, one can obtain (3.3g) by a slight modification of our proof of (3.3d). We provide some details since it is another nice example of Andrews' constant term method. We first write

$$\frac{(-1)^k q^{3k(k-2)}}{\left(q^4; q^4\right)_k \left(-q; q^2\right)_k} = \frac{(-1)^k q^{k(k-1)}}{\left(q^2; q^2\right)_k} \cdot \frac{(-1)^{2k} q^{2k(2k-1)/2}}{(-q; q)_{2k}},$$

which leads to a constant term representation of the right-hand side of (3.3g),

$$(-q;q)_{\infty} \operatorname{CT} \sum_{k=0}^{\infty} \frac{(-1)^{k} q^{k(k-1)} z^{2k}}{\left(q^{2}; q^{2}\right)_{k}} \sum_{l=-\infty}^{\infty} \frac{(-1)^{l} q^{l(l-1)/2}}{(-q;q)_{l} z^{l}}$$

$$= \operatorname{CT} \left(z^{2}; q^{2}\right)_{\infty} \frac{\theta(1/z; q)}{(-qz; q)_{\infty}} = \operatorname{CT} (1+z)(z; q)_{\infty} \theta(1/z; q).$$

In order to apply (3.1), we use the quasi-periodicity of the theta function in the form $z\theta(1/z;q) = -\theta(q/z;q)$. Since the constant term does not change under $z \mapsto qz$, we can write

$$CT(1+z)(z;q)_{\infty}\theta(1/z;q) = CT(z;q)_{\infty}(\theta(1/z;q) - \theta(q/z;q))$$

= $CT((z;q)_{\infty} - (qz;q)_{\infty})\theta(1/z;q) = R(q^{-1};q) - R(1;q).$

This can in turn be written

$$\sum_{k=0}^{\infty} \frac{q^{k^2} (q^{-k} - 1)}{(q;q)_k} = \sum_{k=1}^{\infty} \frac{q^{k^2 - k}}{(q;q)_{k-1}} = \sum_{k=0}^{\infty} \frac{q^{k^2 + k}}{(q;q)_k},$$

and we have arrived at the left-hand side of (3.3g).

Constant-term proofs of the identities (3.3a) and (3.3g) were previously given by Sills [18]. He uses the series (2.7) rather than the original Rogers-Ramanujan identities (1.1).

4 Rogers' proof of the quadratic transformations

Since Rogers' papers are not easy to read, we will provide a slightly modified version of his proof of the quadratic transformations (2.5). Although the notation was not used by Rogers, we find it instructive to introduce the q-exponential functions

$$e_q(x) = \frac{1}{(x;q)_{\infty}} = \sum_{k=0}^{\infty} \frac{x^k}{(q;q)_k}, \qquad E_q(x) = (-x;q)_{\infty} = \sum_{k=0}^{\infty} \frac{q^{k(k-1)/2}x^k}{(q;q)_k}.$$

Roger defines the q-derivative as

$$(\delta_x f)(x) = \frac{f(x) - f(qx)}{x}.$$

It is easy to see that $\delta_x e_q(tx) = te_q(tx)$, and hence $f(\delta_x)e_q(tx) = f(t)e_q(tx)$ for any formal power series f. In particular,

$$e_q(y\delta_x)e_q(tx) = e_q(tx)e_q(ty). \tag{4.1}$$

Identifying the coefficient of t^k in (4.1) gives

$$e_q(y\delta_x)\frac{x^k}{(q;q)_k} = H_k(x,y), \tag{4.2}$$

where H_k are defined by the generating function

$$e_q(tx)e_q(ty) = \frac{1}{(tx, ty; q)_{\infty}} = \sum_{k=0}^{\infty} H_k(x, y)t^k.$$
 (4.3)

In [14], Rogers proves (4.2) in a more direct way and uses it to derive (4.1).

The second q-exponential function satisfies $\delta_x E_q(tx) = tE_q(qtx)$, which gives $\delta_x^k E_q(tx) = q^{k(k-1)/2} t^k E_q(q^k tx)$ and

$$e_q(y\delta_x)E_q(tx) = \sum_{k=0}^{\infty} \frac{q^{k(k-1)/2}y^kt^k}{(q;q)_k} E_q(q^ktx) = (-tx;q)_{\infty} \sum_{k=0}^{\infty} \frac{q^{k(k-1)/2}y^kt^k}{(-tx,q;q)_k}.$$

On the other hand, (4.2) gives

$$e_q(y\delta_x)E_q(tx) = \sum_{k=0}^{\infty} t^k q^{k(k-1)/2} H_k(x, y).$$

Specializing t = q, we obtain [15, Section 6, equation (1)] in the form

$$\sum_{k=0}^{\infty} q^{k(k+1)/2} H_k(x,y) = (-qx;q)_{\infty} \sum_{k=0}^{\infty} \frac{q^{k(k+1)/2} y^k}{(-qx,q;q)_k}.$$
(4.4)

By symmetry, one can interchange x and y on the right-hand side.

Roger now observes that the case $y = xq^{1/2}$ of (4.3) is

$$\sum_{k=0}^{\infty} H_k(x, xq^{1/2}) t^k = \frac{1}{(tx; q^{1/2})_{\infty}},$$

which implies

$$H_k(x, xq^{1/2}) = \frac{x^k}{(q^{1/2}; q^{1/2})_k}.$$

Using this in (4.4) and replacing q by q^2 gives

$$\sum_{k=0}^{\infty} \frac{q^{k(k+1)} x^k}{(q;q)_k} = \left(-q^2 x; q^2\right)_{\infty} \sum_{k=0}^{\infty} \frac{q^{k(k+2)} x^k}{\left(-q^2 x, q^2; q^2\right)_k}.$$
(4.5a)

Interchanging the role of x and y gives the alternative expression

$$\sum_{k=0}^{\infty} \frac{q^{k(k+1)} x^k}{(q;q)_k} = \left(-q^3 x; q^2\right)_{\infty} \sum_{k=0}^{\infty} \frac{q^{k(k+1)} x^k}{\left(-q^3 x, q^2; q^2\right)_k}.$$
(4.5b)

Finally, the case y = -x of (4.3) is

$$\sum_{k=0}^{\infty} H_k(x, -x)t^k = \frac{1}{(t^2x^2; q^2)_{\infty}},$$

which gives

$$H_{2k}(x,-x) = \frac{x^{2k}}{(q^2;q^2)_k}, \qquad H_{2k+1}(x,x) = 0.$$

Using this in (4.4) gives

$$\sum_{k=0}^{\infty} \frac{q^{2k(2k+1)}x^{2k}}{\left(q^2; q^2\right)_k} = (-qx; q)_{\infty} \sum_{k=0}^{\infty} \frac{(-1)^k q^{k(k+1)/2} x^k}{(-qx, q; q)_k}.$$
(4.5c)

The identities (4.5) are indeed equivalent to (2.5).

Acknowledgements

It is a pleasure to dedicate this paper to Stephen Milne, whose work has been one of my main sources of inspiration. I would like to thank Andrew Sills for the reference to his master's thesis and for making it available [18]. I also thank the referees for several useful comments. This research is supported by the Swedish Science Research Council, project no. 2020-04221.

References

[1] Andrews G.E., q-series: their development and application in analysis, number theory, combinatorics, physics, and computer algebra, CBMS Reg. Conf. Ser. Math., Vol. 66, American Mathematical Society, Providence, RI, 1986.

- [2] Andrews G.E., On the proofs of the Rogers-Ramanujan identities, in q-Series and Partitions (Minneapolis, MN, 1988), IMA Vol. Math. Appl., Vol. 18, Springer, New York, 1989, 1–14.
- [3] Andrews G.E., Knopfmacher A., Paule P., An infinite family of Engel expansions of Rogers–Ramanujan type, *Adv. in Appl. Math.* **25** (2000), 2–11.
- [4] Andrews G.E., Berndt B.C., Ramanujan's lost notebook. Part I, Springer, New York, 2005.
- [5] Boulet C., Pak I., A combinatorial proof of the Rogers-Ramanujan and Schur identities, J. Combin. Theory Ser. A 113 (2006), 1019–1030, arXiv:math.CO/0411072.
- [6] Corteel S., Rogers-Ramanujan identities and the Robinson-Schensted-Knuth correspondence, Proc. Amer. Math. Soc. 145 (2017), 2011–2022.
- [7] Fulman J., A probabilistic proof of the Rogers–Ramanujan identities, *Bull. London Math. Soc.* **33** (2001), 397–407, arXiv:math.CO/0001078.
- [8] Garrett K., Ismail M.E.H., Stanton D., Variants of the Rogers-Ramanujan identities, Adv. in Appl. Math. 23 (1999), 274-299.
- [9] Gessel I., Stanton D., Applications of q-Lagrange inversion to basic hypergeometric series, Trans. Amer. Math. Soc. 277 (1983), 173–201.
- [10] Hardy G.H., Ramanujan. Twelve lectures on subjects suggested by his life and work, Cambridge University Press, Cambridge, 1940.
- [11] Ismail M.E.H., A simple proof of Ramanujan's $_1\psi_1$ sum, *Proc. Amer. Math. Soc.* **63** (1977), 185–186.
- [12] Mc Laughlin J., Sills A.V., Zimmer P., Rogers–Ramanujan–Slater type identities, *Electron. J. Combin.* **15** (2008), 1–59, arXiv:1901.00946.
- [13] Paule P., Short and easy computer proofs of the Rogers–Ramanujan identities and of identities of similar type, *Electron. J. Combin.* 1 (1994), R10, 9 pages.
- [14] Rogers L.J., On the expansion of some infinite products, *Proc. Lond. Math. Soc.* 24 (1893), 337–352.
- [15] Rogers L.J., Second memoir on the expansion of certain infinite products, Proc. Lond. Math. Soc. 25 (1893), 318–343.
- [16] Rogers L.J., On two theorems of combinatory analysis and some allied identities, Proc. Lond. Math. Soc. 16 (1917), 315–336.
- [17] Rosengren H., New proofs of the septic Rogers-Ramanujan identities, arXiv:2302.02312.
- [18] Sills A.V., Derivation of identities of the Rogers-Ramanujan type by the method of constant terms, Master Thesis, Pennsylvania State University, 1994, arXiv:2211.14717.
- [19] Sills A.V., Finite Rogers-Ramanujan type identities, Electron. J. Combin. 10 (2003), 13, 122 pages, arXiv:1901.02435.
- [20] Slater L.J., Further identities of the Rogers-Ramanujan type, Proc. London Math. Soc. (2) 54 (1952), 147–167.
- [21] Stembridge J.R., Hall-Littlewood functions, plane partitions, and the Rogers-Ramanujan identities, Trans. Amer. Math. Soc. 319 (1990), 469–498.
- [22] Tsuchioka S., A proof of the second Rogers–Ramanujan identity via Kleshchev multipartitions, *Proc. Japan Acad. Ser. A Math. Sci.* **99** (2023), 23–26, arXiv:2205.06038.
- [23] Watson G.N., A note on Lerch's functions, Q. J. Math. 8 (1937), 43-47.